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(1) ity |[PART A: Cloze Test _ . _ . - 6ss\8
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
_I\/L space. Then mark the correct choice on your answer sheet. The Value of
Knowledge

Recently, | have had to stay in bed for a long time. About Christmas, | ...(41)... very sick | Writing stsiu
ALV sladnio

and | went to a hospital. A doctor examined me ...(42)... and asked if I had been working hard

or had eaten anything special. ...(43)..., he told me it wasn’t very serious but he asked me not to
...(44)... anybody for a week. It was not so bad because my family ...(45)... talked to me
through the window.

41- 1) asked 2) felt 3) found 4) drew

42- 1) orally 2) wildly 3) carefully 4) sadly

43- 1) Correctly 2) Recently 3) Finally 4) Usually
44- 1) visit 2) believe 3) give 4) quit

45- 1) medicines 2) stories 3) problems 4) members

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Oliver Twist; or, the Parish Boy’s Progress (1838) is Charles Dickens’s second novel. It was first published as
a book by Richard Bentley in 1838. It tells the story of an orphan boy and his adventures in London’s poor
areas. Oliver is taken by force by some thieves, and is put to work among them until freed by a gentleman who
has taken an interest in him. Characters include Fagin, Nancy, Bill Sykes, and the Artful Dodger. The book is
one of the earliest examples of the social novel. It draws the reader’s attention to the problem of working
children.
The idea for the novel may have come from the story of Robert Blincoe, an orphan whose story of hardships
as a child worker in a cotton factory was widely read in the 1830s. It is likely that Dickens’s own early youth as a
child worker also helped the story to grow. The book influenced American writer Horatio Alger, Jr. and his
stories of poor boys living on the streets of nineteenth-century New York City.
46- Why is Oliver Twist considered as an early example of the social novel?
1) Because it talks about working with children in the school environment.
2) Because it talks about the problem of working children.
3) Because it tells the story of adventures of a boy.
4) Because it is based on the stories of Alger.
47- According to the text, Oliver Twist may have been based on ... .
1) the stories of the American writer Horatio Alger, Jr.
2) the lives of boys living on the streets of 19th century New York City
3) the adult life of Charles Dickens
4) the life of Robert Blincoe as a child
48- Which of the following characters is among the people in the novel “Oliver Twist”?
1) Horatio Alger, Jr. 2) Richard Bentley 3) the Artful Dodger 4) Robert Blincoe
49- Which of the following is NOT true according to the passage?
1) Charles Dickens worked as a child.
2) Oliver Twist was first published in the first half of the nineteenth century.
3) Oliver was saved from the thieves by a gentleman who was interested in him.
4) Not many people knew about Robert Blincoe before Oliver Twist was published.
50- What is the setting of Oliver Twist book?
1) It happens in the streets of nineteenth-century New York City.
2) It happens in a cotton factory in London.
3) It happens in London’s poor areas.
4) It happens in a gentleman’s house.
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